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HIEH - B - eSS ¢ T [R&D]
HEPI % 40 (40) 2K — NRERE 10:10 TEFH %R 48 (47) 2K — NRERE 13:25
PR3 = EHY 2TFA4T L PN(3 E- EHY STF4T A
AB—K/T 4=y V2RI -2°C / 0°C AB—K/T 4=y V2RI 6°C / 8C
F=720
B Ag=b -b BEE 1AH 2 AKH & F L—2
No No K4 A& BB 4 BE BE B [ AA2 b
1 7 07  fRIE  fi Ca=7 12 1:0823 1:07.97 2:16.20 0.00
2 6 06 JIlE B Ja=T 9F  1:17.72 1:1812 2:35.84  103.82
3 4 04 THA&Z ="M Ca=7 8F 1:21.26 1:17.06 2:38.32 116.93
4 3 03 fRIE TEE Ca=7 12 1:19.79  1:21.86 2:41.65  134.54
5 2 02 &+ {hmE Ja=T 8F  2:39.10 1:03.82 3:42.92 45843
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 1
1 01 By B R&D ¥ GATE No. 5
DID NOT START [2nd RUN] 0
18-02-17 / SEEJEEMHA X —1 s8/ 1

DATA PROCESSING by SE I KO

TIMING by SE I KO
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No No K4 A& BB 4 BE BE B [ AA2 b
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 1
5 05 B EZH R&D 9 ¥ GATE No. 48
HiFRE b ER (& LET] AR IEAK
18-02-17 / SEEJEEMHA X —1 S8/ 2

DATA PROCESSING by SE I KO TIMING by SE I KO
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-ty H— HAR TR [1cT] a—RAtE v H— HAR TER [1CT]
AIEH - A - EE O [KS] AIEH - A - EE O [KS]
AIEH - B - B s (R&D]
HEPI % 40 (40) 2K — R 10:10 TR 48 (47) 2K — N 13:25
PR3 E- EHY RTFA4T L N3 E- EHY STAT A
AB—K/T 4=y V2RI -2°C / 0°C AB—K/T 4=y V2RI 6°C / 8C
F=720
B Ag=b -b BEE 14AH 2 KH & F L—2
No No K4 A& BB 4 BE BE B [ AA2 b
1 13 013 /NIl sz BLET 54.01 53.35 1:47.36 0.00
2 15 015 i #&F A 1:01.13 1:02.95 2:04.08 112.13
3 12 012 /NER SRl Airb—v 1:08.41 1:03.01 2:11.42 161.36
4 11 011 @A PET IR — 1:16.58 1:16.84 2:33.42  308.90
5 14 014 M@ fihE Airb—3 v 1:33.30 1:13.96 2:47.26  401.71
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALTFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
18-02-17 / SEEEJEEHA X —1 s8/ 1

DATA PROCESSING by SE I KO TIMING by SE I KO
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No No K4 A& BB 4 BE BE B [ AA2 b
DISQUALTFTED [2nd RUN] 0
Wit R (B T] o ER
18-02-17 / SEEJEEMHA X —1 S8/ 2

DATA PROCESSING by SE I KO TIMING by SE T KO
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AIEH - A - EE O [KS] AIEH - A - EE O [KS]
AIEH - B - eSS ¢ T (R&D]
HEPI % 40 (40) 2K — R 10:10 TR 48 (47) 2K — N 13:25
PR3 E- EHY RTFA4T L N3 E- EHY STAT A
AB—K/T 4=y V2RI -2°C / 0°C AB—K/T 4=y V2RI 6°C / 8C
F=720
B Ag=b -b BEE 14AH 2 KH & 7 L—2
No No K4 A& BB 4 BE BE B [ AA2 b
1 33 033 ik B2 IR — 32F 41.67 4153 1:23.20 0.00
2 31 031 /NI & ELET 56F 47 .84 46.30 1:34.14 94.67
DID NOT START [1st RUN] 1
32 032 MM & Ty a—A 33F
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Wit R [+ ET] HOER
18-02-17 / SEEEJEEHA X —1 s8/ 1

DATA PROCESSING by SE I KO TIMING by SE I KO
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HEPI % 40 (40) 2K — R 10:10 TR 48 (47) 2K — N 13:25
PR3 E- EHY RTFA4T L N3 E- EHY STAT A
AB—K/T 4=y V2RI -2°C / 0°C AB—K/T 4=y V2RI 6°C / 8C
F=720
B Ag=b -b BEE 14AH 2 KH & F L—2
No No K4 A& BB 4 BE BE B [ AA2 b
1 42 042 fil #i— FHRE 74%F 54.03 51.56  1:45.59 0.00
2 45 045 MW FEI IR — 70 1:00.07 58.32  1:58.39 87.28
3 44 044 —QO EH FAE 28 59.55 1:01.07 2:00.62 102.49
4 41 041 #BR, &b A=V 87F 1:04.52 1:03.86 2:08.38 155.40
5 43 043 A —3k N — 72 1:05.33 1:05.45 2:10.78 171.77
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
18-02-17 / SEEEJEEHA X —1 s8/ 1

DATA PROCESSING by SE I KO TIMING by SE I KO
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DISQUALTFTED [2nd RUN] 0
Wit R (B T] HhOER
18-02-17 / SEEJEEMHA X —1 S8/ 2

DATA PROCESSING by SE I KO TIMING by SE T KO
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T 4=y 2 iR 900m
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14H 2AKH
-ty H— &= ERE] [1cT] a—RAtE v H— HAR TER [1CT]
AIEH - A - EE O [KS] AIEH - A - EE O [KS]
AIEH - B - B s (R&D]
HEPI % 40 (40) 2K — R 10:10 TR 48 (47) 2K — N 13:25
PR3 E- EHY RTFA4T L KA E- EHY 2TFA4T L
AB—K/T 4=y V2RI -2°C / 0°C AB—K/T 4=y V2RI 6°C / 8C
F=720
JIERE A4-b -b BEE 14AH 2 KH & F L—2
No No K4 A& BB 4 BE BE B [ AA2 b
1 61 061 SEH AVAN 64F 50.23 4963 1:39.86 0.00
2 56 056 RN % TuAT 66 52.84 52.02 1:44.86 36.05
3 53 053 K{ & TaAF 66F 54.83 5273  1:47.56 55.52
4 58 058 7RI @ IR — 63F 53.63 5416  1:47.79 57.18
5 60 060 Zguh % IR — 60F 55.86 53.15  1:49.01 65.97
6 51 051 FHEwM #R FAE 67F 55.91 53.59  1:49.50 69.51
7 55 055 RHEA f& [S95 64F 55.75 56.18 1:51.93 87.03
8 52 052 /hBR o FRR Airb—3 v 664 56.94 1:11.25 2:08.19  204.26
9 54 054 /N 2R — 65+ 1:35.68 58.02 2:33.70  388.19
DID NOT START [1st RUN] 2
57 057 Hfh =] VAT 4 —F 64F
59 059 Stk fnzz JaAT 60F
DID NOT FINISH [1st RUN] 0
18-02-17 / SEEEJEEHA X —1 s8/ 1

DATA PROCESSING by SE I KO TIMING by SE I KO
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JIERL Af=b b R 1 AKH 2 KH & &t L—2
No No K4 A& BB 4 BE BE B [ AA2 b
DISQUALTFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINTSH [2nd RUN] 0
DISQUALTFTED [2nd RUN] 0
Wit R (B T] HhOER
18-02-17 / SEEJEEMHA X —1 S8/ 2

DATA PROCESSING by SE I KO TIMING by SE T KO
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BHEEERE P o) [KS] HEE v 7 124m
14H 2AKH
a—2AkyH— HAR TR [1cT] a—RAtE v H— HAR TER [1cT]
AIEH - A - EE O [KS] AIEH - A - EE O [KS]
AIEH - B - B s (R&D]
A 40 (40) A A — N IRfRE 10:10 TR 48 (47) A K — R 13:25
PR3 E- EHY RAP AN N3 E- EHY STAT A
AB—K/T 4=y V2RI -2°C / 0°C AB—K/T 4=y V2RI 6°C / 8C
F=720
B Ag=b -b BEE 14AH 2 KH & F L—2
No No K4 A& BB 4 BE BE B [ AA2 b
1 82 082 i FnE ELET 51 49.51 4822 1:37.73 0.00
2 71 071 dbAF HE— Airb—v o 59F 51.23 47.34  1:38.57 6.19
3 78 078 &M ZA [E85S 55F 50.01 50.08 1:40.09 17.39
4 77 077 ¥ &= Ty n—A 547 53.95 52.07 1:46.02 61.07
5 83 083 Hi% Ty a— A 51F 56.35 53.77 1:50.12 91.28
6 81 081 & HEF] Ty m—A 52%  1:01.59 53.58 1:55.17 128.48
7 74 074 B =5 ELET 58%F 1:01.59 54.94 1:56.53 138.50
8 80 080 | FHIk [C85S 53 1:01.49 58.31  1:59.80 162.59
9 79 079 Kk Ty a— A 53F% 1:01.26 1:04.29 2:0555 204.96
DID NOT START [1st RUN] 3
73 073 ik FH FAE 59F
75 075  /IREF JiZ Ty a—A 547F
76 076 0 T FAHE 57F
18-02-17 / SEEEJEEHA X —1 s8/ 1

DATA PROCESSING by SE I KO TIMING by SE I KO
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JIBAL  Af—b a-h B 1AH 2 A H & 7 L—2
No No K4 A& BB 4 BE BE B [ AA2 b
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 1
72 072 HA HE Ty a—A 59F
DISQUALIFIED [2nd RUN] 0
Wit R (B T] o ER
18-02-17 / SEEJEEMHA X —1 S8/ 2

DATA PROCESSING by SE I KO TIMING by SE T KO
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a—2 kv — &= ERE] [1CT] a—2k vy H— HAR TER [1CT]
AIEH - A - EE O [KS] AIEH - A - EE O [KS]
AiAEH - B - B s (R&D]
HEPI % 40 (40) 2K — R 10:10 TR 48 (47) 2K — N 13:25
PR3 E- EHY RAP AN KA E- EHY RAP AN
AR—=b/ST =2 RIR -2C / 0C AB—K/T 4=y V2RI 6°C / 8C
F=720
JIERE A4-b -b BEE 1 AH 2AKH & F L—2
No No K4 ] B 4 RE [ RE [ B [H ARA b
1 102 0102 HEIN  FHIK Airb—3 7 a1F 48.72 48.03 1:36.75 0.00
2 91 091 FiFF =HE FAHE 44F 49.41 49.01 1:38.42 12.43
3 93 093 THH & 2R — 49F 50.25 48.31 1:38.56 13.47
4 99 099 FHH T R&D 43F 55.55 55.27 1:50.82 104.71
5 97 097 KT R FAE 45F 59.32 56.39  1:55.71 141.10
6 105 0105 JEH A8 R&D 42%F 59.91 56.70  1:56.61 147.80
7 98 098 AJi  EEh Ty na—Ah 45F 58.25 59.60 1:57.85 157.02
8 104 0104 E¥  FoyE IR — 4% 1:02.88 1:02.20 2:05.08 210.83
9 96 096 fEE N— Airb—3 v 46F 1:44.88 1:37.19 3:22.07 783.78
DID NOT START [1st RUN] 5
92 092 I F=E= Ty E— A 487F
94 094 K& E— TaAT 46F
95 095 #Hf T VAT 4 —F 497F
101 0101 VHE 2N Ty E— A 43F
18-02-17 / SEEEJEEHA X —1 s8/ 1

DATA PROCESSING by SE I KO TIMING by SE I KO
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F=720
JIERL Af=b b R 1 AKH 2 KH & &t L—2
No No K4 A& BB 4 BE BE B [ AA2 b
103 0103 M JiE Sy m—2h 40F
DID NOT FINTSH [1st RUN] 0
DISQUALTFTED [1st RUN] 0
DID NOT START [2nd RUN] 1
100 0100 K[ sEAH [C95S 46F
DID NOT FINTSH [2nd RUN] 0
DISQUALTFTED [2nd RUN] 0
Wit R (B T] HhOER

18-02-17 / SEEJEEMHA X —1

S8/ 2
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AIEH - A - EE O [KS] AIEH - A - EE O [KS]
AIEH - B - eSS ¢ T (R&D]
HEPI % 40 (40) 2K — R 10:10 TR 48 (47) 2K — N 13:25
PR3 E- EHY RTFA4T L N3 E- EHY STAT A
AB—K/T 4=y V2RI -2°C / 0°C AB—K/T 4=y V2RI 6°C / 8C
F=720
B Ag=b -b BEE 14AH 2 KH & F L—2
No No K4 A& BB 4 BE BE B [ AA2 b
1 116 0116 P50 KL Airb—v 35F 52.20 51.02 1:43.22 0.00
2 112 0112 i Big R&D 32F 52.68 51.77 1:44.45 8.58
3 115 0115 M9+ (54 Ty m—A 39F 1:12.16 56.82  2:08.98 179.69
4 114 0114 /I Mbk # ELET 31% 1:.0843 1:08.41 2:16.84  234.51
5 113 0113 #hH @®2 Airb—3 7 397 2:46.73 53.12  3:39.85 813.54
DID NOT START [1st RUN] 1
111 0111 FkKH i HELtET 34%F
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
18-02-17 / SEEEJEEHA X —1 s8/ 1

DATA PROCESSING by SE I KO TIMING by SE I KO
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JIERL Af=b b R 1 AKH 2 KH & &t L—2
No No K4 A& BB 4 BE BE B [ AA2 b
DID NOT FINTSH [2nd RUN] 0
DISQUALTFTED [2nd RUN] 0
Wit R (B T] HhOER
18-02-17 / SEEJEEMHA X —1 S8/ 2
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AiEE - A - EE O [KS] AIEH - A - EE O [KS]
piE#H - B - eSS ¢ T [R&D]
HEPI % 40 (40) 2K — R 10:10 TR 48 (47) 2K — N 13:25
PR3 E- EHY RTFA4T L N3 E- EHY RAP AN
AB—K/T 4=y V2RI -2°C / 0°C AB—K/T 4=y V2RI 6°C / 8C
F=720
JIBAL  Af—b a-h B 1AH 2 A H & 7 L—2
No No K4 A& BB 4 BE BE B [ AA2 b
1 118 0118 &K #EX Pa=7 15F 1:22.79 52.06 2:14.85 0.00
2 119 0119 H{¥E EESL [S95 21 1:11.86 1:11.06 2:22.92 43.09
3 117 0117 /bR #hiE [E85S 25%F% 1:15.52 1:18.26  2:33.78 101.07
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Wit R [+ ET] HhER
18-02-17 / SEEFEMAX—1 s8/ 1

DATA PROCESSING by SE I KO TIMING by SE I KO



